Score
From 1 to 13 answer all questions.

1. Identify the political party which came
to power at the centre in 1977 Loksabha
election,

a) Congress (R)

¢) Janata Party

b) Congress (0)
d) Socialist Party
(1)

2. Find out the place where the first
meeting of World Social Forum (WSF)
held in 2001.

a) Porto Alegre
c} New York

b) Rio de Janeiro
d) Seattle (1)

3. Choose the ideological outlook of
Socialist party in India.

a) Communism

b) Guild Socialism

c) Liberal Democracy

d) Democratic Socialism (1)

4. Find out the correct statement relating
to Tamil issue in Srilanka.

a) The IPKF was constituted by
Srilankan government

b) L.T.T.E. fought an armed struggle
against Srilankan army for
establishing *Tamil Eelam’

¢) Tamil’s in Srilanka was given equal
consideration with Sinhalas

d) Tamil’s constitute the majority in
Srilanka (1)
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5. Name the economist involved in drafling

~1

the first five year plan.
a) P.C. Mahalanobis
b) 1.C. Kumarappa

¢) Dr. K.N. Raj

d) Varghese Kurian (1

Name of some countries are given
below. Arrange them properly in the
table.

* France * Indonesia
* Germany * Philippines
* Britain * Singapore
[ Europian Union ASEAN |
- L
L] L]
(3)

- Write the Act which led to the formation

of 14 states and six union territories mn
1956. (1)

- Identify the Prime Minister and the

coalition which implemented Mandal
Commission report.

a) H.D. Deve Gowda : United Front
b) Man Mohan Singh : UPA
¢) A.B. Vajpayee : NDA

d} V.P. Singh : National Front (1)

. Identify the President who introduced

economic and political reforms to
rebuild Soviet Union which in turn led
to its disintegration.

a) Joseph Stalin
¢) Gorbachev

b) V.I. Lenin
d) BorisYeltsin
(1
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11. The first NAM summit was held at

in 1961,
a) Belgrade b) New Delhi

¢) Bandung d) New York (1)

12. The first general elections in India was
held in period.
a) 1949-1950 b) 1950-1951
c) 1951-1952 d) 1952-1953

13. Write two military alliafites formed
under the leadership of U.S.A. during
cold war. 2)

From questions 14 to 19 answer any 5 of
them. Each question carries 3 score,
(5%3=15)

14. Explain the approach of Communist
Party of India towards the nature of
Indian Independence in 1947 and the
change in its position in 1951,

15. Aconsensus on many crucial 1ssues exist
in India among most political parties
today. Write three of such issues.

16, Explain three consequences of
disintegration of Soviet Union.
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Punjab Accord was a step towards
bringing normalcy to Punjab. Based
on this statement state major aspects of
Punjab accord,

The Government of India and Bangladesh
have had differences over several issues.
Write three major issues of conflict |
between India and Bangladesh.

In the name of the global culture there
is imposition of Western culture on
the rest of the world. Based on this
statement analyse cultural consequences
of globalisation.

From questions 20 to 24 answer any four
of them. Each question carries 4 score.

20,

21,

22,

(4x4=16)

India relies heavily on principles of
historical responsibility in formulating
its stand on environmental issues.
Evaluate India’s stand on environmental
155U€s, '

The Clinton government tended to
focus on ‘soft issues’ rather than on
“hard politics’. Based on this statement
analyse Bill Clinton’s foreign policy
approach,

Though the slogan of anti-arrack
movement was prohibition of sale of
arrack it raised several other issues.

Explain the issues raised by anti-arrack
movement.
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23. Two major outcomes of planning in

India is given below. Discuss them.,
* Foundations of India’s future
economic growth,
o Land reforms.

24. “Indira Gandhi converted the simple

powet struggle into an ideological
struggle’. Give your arguments to
substantiate this statement.

From questions 25 to 28 answer any three -

of them. Each question carries 5 score.

(3x5=15)

25, Gujarat and Bihar movements were

26

27

.

28.

one of the most prominent reasons for
declaration of emergency in June-1975.
Explain the role of these two movements
in declaration of emergency.

The formation of lingwisnc srates
underlined the acceptance of the
principle of diversity. Analyse the
reorganisation of states on linguistic
lines.
Two notions of traditional security is
given below. Evaluate them on Indian
situations.

+ External notion

+ Internal notion

China’s economic success since 1978
has made it an alternative centre of
power. Explain the growth of China as
a centre of power.
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From questions 29 to 31 answer any two

of them. Each question carries 8 score.

29,

30,

(2x8=16)

The Chinese attack of 1962 was quiet
un expected and shocking. Explain the
circumstances of 1962 China War and
its consequences.

‘Two kinds of reform process suggested
to UNO in post cold war era is given
below. Analyse them and write India’s
stand on these reforms.

* Reform of structures and process.

* Reform of Jurisdiction of UNO.

- Three issues dominating the politics

of north castern India is given below.
Analyse them.

* Demands for autonomy.

*  Secessionist movements,

* Movement against outsiders.
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